
 

SecondorderlinearDifferentralEquations
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General solution has form

y Cis 1GY typwhere c y t Sy is thegeneral solution

to the complementary equation and

Yp is a single solution to the originalequation

STEP STOSOLVE

Steel Solve the complementary equationGet the
right side o and solveusing the techniques
taught in earlier classes to find thegeneral
solution C 9 TG92

STEP2 Guesy a solution g to the original
equation based on the function fCx
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How to of function on the rightside f
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below original equation and solve for any
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Findthegeneralsolution
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How to guess
IDEA guess themost general yp so that FKA
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Whatelse can go wrong
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Findthegeneral solution
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C e tCzek general soIn to complementaryeqn

STEP2 guess yp Ae
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